Information on Extn set relocation problems

  I have done this guide in order to show you 2 different ways of recovering a Meridian TN port which is stuck in a “locked” state. The symptoms are usually when you try & do a “move” or “change”, “out” etc on an Option 11 system.

  TN corruption is caused when the protected & unprotected unit pointers are invalid, or have become missing from the card pointers. 

  The corrupted TN can be printed as normal in LD 20, but you will not be able to make any changes to it. It can’t be removed in LD 11. You will also get the error “SCH0128” message. 

e.g

REQ:  “CHG” or “OUT”
TYPE: 2616 

TN 4 0 0 6 

SCH0128 = Terminal does not exist. 

TN **** 

  Another way to find out if a TN port is stuck in set relocation, Is to do a “STAT” first in LD 32. Use e.g. “STAT 4” etc to list out all the TN’s on the card that port is on. 
REQ: STAT 4

00 = UNIT 00 = IDLE  (2616)

01 = UNIT 01 = IDLE  (2616)

02 = UNIT 02 = IDLE  (2616)

03 = UNIT 03 = IDLE  (2616)

04 = UNIT 04 = IDLE  (2616)

05 = UNIT 05 = UNEQ

06 = UNIT 06 = MSBY (2317)
07 = UNIT 07 = IDLE  (2616)

08 = UNIT 08 = IDLE  (2616)

09 = UNIT 09 = UNEQ

10 = UNIT 10 = UNEQ

11 = UNIT 11 = UNEQ

12 = UNIT 12 = UNEQ

13 = UNIT 13 = UNEQ

14 = UNIT 14 = UNEQ

15 = UNIT 15 = UNEQ

16 = UNIT 16 = UNEQ

17 = UNIT 17 = UNEQ

18 = UNIT 18 = UNEQ

19 = UNIT 19 = UNEQ

20 = UNIT 20 = UNEQ

21 = UNIT 21 = UNEQ

22 = UNIT 22 = UNEQ

23 = UNIT 23 = UNEQ

24 = UNIT 24 = UNEQ

25 = UNIT 25 = UNEQ

26 = UNIT 26 = UNEQ

27 = UNIT 27 = UNEQ

28 = UNIT 28 = UNEQ

29 = UNIT 29 = UNEQ

30 = UNIT 30 = UNEQ

31 = UNIT 31 = UNEQ

REQ:
  This situation tends to happen only on older Option 11 software versions. The cause of this is when a customer picks up the handset on a TN port that has just become spare. The old DN on that TN port was in the process of being moved via TTY programming to a new TN position. 
  There is a Model set template that exists for the Option 11 software. This will have now become corrupted. 
  There are a number of ways to resolve this problem, & I’ll start off with the easy & safe method. You will need to be in contact with an Engineer / Customer on site. If they are providing a new extension, It may be possible for them to unlock the TN port.

  This is done my using a revised Opt11 “Model” set (Usually 20) for either the M2006, 2008, 2216, 2616 & Orion type phone versions. First of all, I would print out the phones type model set to check if it exists in software.

e.g. 
>LD 20

REQ: PRT

TYPE: 2616 M
MODL 20   (You can just key in “Enter” to list out all the model sets for the set type!) 
DATE

PAGE

DES

DES  MOD20

MODL 020

TYPE 2616

CUST 0

AOM  0

FDN

TGAR 1

LDN  NO

NCOS 7

SGRP 0

RNPG 1

SCI  0

SSU  0010

XLST

SCPW

CLS  UNR FBD WTA LPR PUA MTD FND HTD ADD HFD

     MWA AAD IMD XHD IRD NID OLD VCE DRG1

     POD DSX VMD CMSD CCSD SWD LND CNDD

     CFTD SFD MRD DDV CNID

     ICDD CDMD MCTD CLBD AUTU

     GPUA DPUA DNDD CFXA ARHD CLTD ASCD

     ABDD CFHD FICD NAID

     UDI HBTD AHA DDGA NAMA MIND PRSD NRWD NRCD NROD

     EXR0

     USRD ULAD OCBD

CPND_LANG ENG

RCO  0

HUNT

PLEV 02

AST

IAPG 0

ITNA NO

DGRP

DNDR 0

KEY  00 SCR

          01 SCR              (This key needs to be removed!)
          02 AO6

          03 CFW 4

          04 RNP

          05 RGA

          06 SCC 0100

          07

          08 TRN

          09 RDL 16

          10 SSU 0010

          11 ADL 16

          12 ADL 16

          13 ADL 16

          14 ADL 16

          15 ADL 16

DATE NO DATE

NACT
  Some of the later Meridian Option 11c databases will not have any model sets programmed on the system. In that case it’s best to create a new model set 20. 
  Don’t programme in two SCR / MCR keys etc. Just provide a basic phone with key 0 as SCR. If you find that the model set 20 exists, then check or make key 1 “Null”.

  The next thing to do, Is to plug the phone in onto the faulty TN port. If the phone has a display fitted then you may see “20” appear on the right hand side of the terminal screen, when the handset is picked up.

  All that needs to be done on site, Is to get the Engineer or Customer to key in ## on the phone & replace the handset. One of two things should then happen.
1) The TN port will become spare & unequipped.    (The port can now be used)

2) Or a new digital phone will be shown on the TN.     (TN can now be deleted) 

  Whatever the result is, The TN can be used for programming again.
Note!

When ## is entered, The Option 11 will automatically assign a DN number within the range “22xx”.

How to resolve the problem by using “DEBUG” 
  This method should only be attempted if you are unable to use a model set, & if the system is a Option 51 onwards etc.

  You should be familiar with working with “Debug” to use this area of programming. For the older software versions e.g. 16 to 21, The “PWD2” passcode & UPPER CASE is required!
  Please do a “EDD” or backup the database in LD 43, Before carrying out & making any changes. If a mistake is made then the Meridian system can be rebooted again.  The example given below is based on a Option 11 Version 21.19.
  I’ve highlighted in Bold the main points for reference to check with. I would strongly advise that you create a capture file whilst you are working in this area!.  
>

OVL111 044 BKGD

TTY 00 SCH MTC   12:45

$$            (Enter $$ to access “Debug”. You don’t need to be logged in!) 
PSWD?   (Enter the PWD2 passcode. You will get “#” if it’s successful)
DBG000

#TNT 4 0 0 6   (Use can also type in TNT 4 6)
0052 FFFF

G-053417 SL- 053437 045721 C-050DA2 045780 U-056D74 047C31

  The data listed on the line, contains the value “C_xxxxxx”. This is the data which you will require to enter next 
  Key in “P xxxxxx 5” to print out the next 5 hex address’s. Within that line of hex, Will be the 4th value. This data is the same as the “U_xxxxxx” on the TNT string. To remove the TN number, the parameter has to be set as “0”. 
  The “P xxxxxx” is used to print out a value in Debug! 

#P 050DA2 5
05 0DA2 : 002060 056D1C 000000 056D74 056DCC

  The “W xxxxxx” is used to write in a new value in Debug! 

#W 050DA2
05 0DA2 : 002060 /      (Use “Spacebar” 3 times to go to the required hex address) 
05 0DA3 : 056D1C /

05 0DA4 : 000000 /

05 0DA5 : 056D74 /0    (Enter “0“ to null the pointer address)
05 0DA6 : 056DCC /   
  Do “TNT” again to check that the “U” hex address value has changed.
#TNT 4 0 0 6

0052 0000

G-053417 SL- 053437 045721 C-050DA2 045780 U-000000 047C31

#****       (4 stars is used to exit the Debug section)
Log back into the Meridian in order to check that the TN has been removed.
.OVL111 044 BKGD

TTY 00 SCH MTC   12:54

LOGI

OVL111 044 BKGD

PASS?

.

TTY #00 LOGGED IN 12:54   9/7/2004

>LD 32       
NPR000

.STAT 4

00 = UNIT 00 = IDLE  (2616)

01 = UNIT 01 = IDLE  (2616)

02 = UNIT 02 = IDLE  (2616)

03 = UNIT 03 = IDLE  (2616)

04 = UNIT 04 = IDLE  (2616)

05 = UNIT 05 = UNEQ

06 = UNIT 06 = UNEQ            (The TN is now spare & can now be used again)
07 = UNIT 07 = IDLE  (2616)

08 = UNIT 08 = IDLE  (2616)

09 = UNIT 09 = UNEQ

10 = UNIT 10 = UNEQ

11 = UNIT 11 = UNEQ

12 = UNIT 12 = UNEQ

13 = UNIT 13 = UNEQ

14 = UNIT 14 = UNEQ

15 = UNIT 15 = UNEQ

16 = UNIT 16 = UNEQ

17 = UNIT 17 = UNEQ

18 = UNIT 18 = UNEQ

19 = UNIT 19 = UNEQ

20 = UNIT 20 = UNEQ

21 = UNIT 21 = UNEQ

22 = UNIT 22 = UNEQ

23 = UNIT 23 = UNEQ

24 = UNIT 24 = UNEQ

25 = UNIT 25 = UNEQ

26 = UNIT 26 = UNEQ

27 = UNIT 27 = UNEQ

28 = UNIT 28 = UNEQ

29 = UNIT 29 = UNEQ

30 = UNIT 30 = UNEQ

31 = UNIT 31 = UNEQ
How to resolve the problem by using “PDT” 

  This method should only be attempted if you are unable to use a model set, & if the system is a Option 51 onwards etc. PDT stands for Problem Determination Tool.
  You should be familiar with working with “PDT” to use this area of programming. For software versions 22 onwards, The “PDT” passcode & lower case is required!

  Please do a “EDD” or backup the database in LD 43, Before carrying out & making any changes. If a mistake is made then the Meridian system can be rebooted again.  The example given below is based on a Option 11 Succession Version 03.00.

  I’ve highlighted in Bold the main points for reference to check with. I would strongly advise that you create a capture file whilst you are working in this area!.  
>LD 20
.STAT 11

00 = UNIT 00 = UNEQ

01 = UNIT 01 = UNEQ

02 = UNIT 02 = UNEQ

03 = UNIT 03 = UNEQ

04 = UNIT 04 = UNEQ

05 = UNIT 05 = UNEQ

06 = UNIT 06 = IDLE  (2616)      (This is the TN 11 0 0 6 to be removed)
07 = UNIT 07 = UNEQ

08 = UNIT 08 = UNEQ

09 = UNIT 09 = UNEQ

10 = UNIT 10 = UNEQ

11 = UNIT 11 = UNEQ

12 = UNIT 12 = UNEQ

13 = UNIT 13 = UNEQ

14 = UNIT 14 = UNEQ

15 = UNIT 15 = UNEQ

NACT
(Access “PDT” by pressing the ”Ctrl key” & “p d t” keys).
         You don’t have to be logged into the system! To access “PDT”
PDT:  login on /sio/1   
Password:         (Enter thorsgr8 as one of the default passcodes. You will get “pdt>” if it’s successful)
Note!   The “PDT” passcode has two levels of access & it can be changed for reasons of security. You may need assistance in this area, before continuing, by obtaining the current codes for your site.

PDT in Progress. Please Wait....

Done!

pdt> tnt 11 0 0 6     (Use can also type in tnt 11 6)
 EQPD SLOOP TN 084E

 GP 0007476F SLP 0007591F 00184EEA  CD 000754B9 001329B3  LN 00075593 0013293A

  The data listed on the line, contains the value “CD xxxxxxxx”. This is the data which you will require to enter next 
  Key in “p xxxxxxxx 5” to print out the next 5 hex address’s. Within that line of hex, Will be the 4th value. This data is the same as the “LN xxxxxxxx” on the TNT string.      To remove the TN number, the parameter has to be set as “0”. 
  The “p xxxxxxxx” is used to print out a value in PDT! 

There is no need to enter any leading 000 digits! In “PDT” 
pdt> p 754b9 5
000754B9 : 00002060 00000000 00000000 00075593 00000000

  The “w xxxxxxxx” is used to write in a new value in PDT! 

pdt> w 754b9
000754B9 : 00002060 /       (Use “Spacebar” 3 times to go to the required hex address)
000754BA : 00000000 /

000754BB : 00000000 /

000754BC : 00075593 /0     (Enter “0“ to null the pointer address & press Enter twice)
  Do “tnt” again to check that the “LN” hex address value has changed.
pdt> tnt 11 6
 UNEQPD SLOOP TN 084E

 GP 0007476F SLP 0007591F 00184EEA  CD 000754B9 001329B3  LN 00000000 00000000

pdt> exit
PDT in Progress. Please Wait....

Done!

Log back into the Meridian in order to check that the TN has been removed.
REQ: prt

TYPE: tnb

TN   11 6

DATE

PAGE

DES

SCH0805

REQ: stat 11

00 = UNIT 00 = UNEQ

01 = UNIT 01 = UNEQ

02 = UNIT 02 = UNEQ

03 = UNIT 03 = UNEQ

04 = UNIT 04 = UNEQ

05 = UNIT 05 = UNEQ

06 = UNIT 06 = UNEQ            (The TN is now spare & can now be used again)
07 = UNIT 07 = UNEQ

               to

13 = UNIT 13 = UNEQ

14 = UNIT 14 = UNEQ

15 = UNIT 15 = UNEQ

REQ: end
>
